N = 0l & At & Ml A

20138 = 20l & LB H == 1t ==
EM:
M MAT . AL B
CH2: DISaET A &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 3,971,611 2,085,424 1,886, 187
2 480,000
= 16,000
Al 3,475,611
M - A 22 1,955,611 1,863,053 92,558
2 480,000
Al 1,475,611
DISMd4EE AIE &5 1,546, 156 1,452,675 93,481
2 480,000
Al 1,066, 156
OISasE E&XAFY 503,600 251,800 251,800
401 Al HI L 204 503,600 251,800 251,800
01 Al&H| 500,000 250,000 250,000
Ollsasx &XAY 500,000
DS HE FA2e ¢ 500,000, 000& = 14! 500,000
03 A& E2HH] 3,600 1,800 1,800
OA&E S0l 500,000,000 x0.72/100 3,600
OISa% HE4 AP 352,520 322,304 30,216
401 AlEHIZL 2 0HY| 352,520 322,304 30,216
01 Al&H| 350,000 320,000 30,000
OltSa4+E HES AlY 350,000
DSESME FaE SiHs 22
150,000,000 = 1A! 150,000
DAZXH HUAL GIE 22
200,000,000 x4l 200,000
03 A& 2 0HH]| 2,520 2,304 216
OAlIE S0t 350,000,000 x0.72/100 2,520
AABRLEEAIE HSAIY 690,036 878,571 A 188,535
2 480,000
Al 210,036
401 Al HI L 2 0HHI 690,036 878,571 A 188,535
2 480,000
Al 210,036
01 Al&H| 685,715 878,571 A 192,856
OALFARSETAIE HEALY 685,715
DHNHE el 2ds 230,843,000 14! 230,843
2 161,590
Al 69,253
DAZXH ML SIS 145,633,000 = 14! 145,633
2 101,943
Al 43,690
DAZTH AL A= 194,954 ,000& * 14! 194,954
2 136,467
Al 58,487




2N =21
A MLC - Ax B
Sl DISA4E A 25 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DRSS saetel StdE 114,285,000 14 114,285
= 80,000
Al 34,285
03 Al 2 THHI 4,321 0 4,321
OAIZ Sl 685,715,000% *0.63/100 4,321
MWRE === 3= 409,455 410,378 A 923
Oisa+E =Z20d 268,447 269,370 A 923
201 ¢er24| 14,420 10,000 4,420
02 =224l 14,420 10,000 4,420
O1 3323 ¥ HMA 6,420
DAHLAEESE(H23]) 5,000,000& =14 5,000
DAUASX BEZ2 1,000,000& 14 1,000
DEIMNERES 60,0003 » 14! 60
DNEEZE SHI 30,0003 1CH«12& 360
O4 Xtg - det 8,000
> S ¥ =l 8,000,000 » 14! 8,000
206 M= Hl 9,195 14,135 A 4,940
01 M= 4l 9,195 14,135 AN 4,940
OFRHIESH(2HEA) 5,000& » 155KG 775
OASAZ(HA) 14,500& 500 7,250
O=ZZAE M2 (20 ) 96,000& *10BOX 960
O=ZZAE M2 (4 ) 105,000& »2BOX 210
307 21201 A 139,176 139,176 0
05 BIZERI & 3 139,176 139,176 0
ODIS(ARR)M4E +H22 8Y HE24
= 72,000,000& =14 72,000
OIS (ARD)MFE B4+ HAS (N
Sabal=d 67,176,000& » 14! 67,176
401 AIEHI L 2 CHEI 105,656 106,059 A 403
01 A& Bl 104,900 105,300 A 400
OF+=IUEH LHAY 1,300, 000& *23H 2 29,900
OXots Y OIZAIE2 A2 22| HIE
5,000,000& 1004 2 50,000
OXIGt AZU ME Xdts SEIZA HS
5,000,000 *54 & 25,000
03 Al SR THHI 756 759 A3
OAl& 2| 104,900,000& *0.72/100 756
SR DAY 141,008 141,008 0
401 AIEHI L 2 CHYI 141,008 141,008 0
01 A& HI 140,000 140,000 0
O2geldoha A 7,000, 0003 2004 2~ 140,000




EM:
M MAT . AL B
Sl WRE +%2 22 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
03 Al 20| 1,008 1,008 0
OAlIE 20l 140,000,000 «0.72/100 1,008
MEES (=) 2,016,000 222,371 1,793,629
= 16,000
Al 2,000,000
LHEAHeH X = 2,016,000 27,000 1,989,000
= 16,000
Al 2,000,000
CSET2AMEBAY BES3(HE) 16,000 27,000 A 11,000
= 16,000
309 =2 16,000 27,000 A 11,000
=2 16,000
01 2L SEIHIBANTEZ 16,000 27,000 A 11,000
OLSLTZHINEAY OIXNBEZS B (AE)
16,000, 000 = 1Al 16,000
= 16,000
ML AIYE EEIH &2 2,000,000 0 2,000,000
404 2128 E2 2,000,000 0 2,000,000
01 2I)|YEHIHN=2AIES 2,000,000 0 2,000,000
OM=TAIESEIH &3
2,000,000, 000 « 14! 2,000,000




